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Quiz - Module C

1. Social protection floors do not differ among countries
 True
 False

2. Choose the correct answer:
 Categorical schemes are contributory schemes providing benefits to specific group of the population
 Categorical schemes are non-contributory schemes providing benefits to specific group of the population
 Categorical schemes are non-contributory schemes providing benefits to the entire population under the single condition of residence

3. [bookmark: _GoBack]How many and which are the branches of social security as recognized by ILO’s Minimum Standard Convention, 1952 (No. 102)?
 Nine (long-term care, employment injury, sickness, maternity, health, old-age, unemployment, survivors’ benefits, family benefits)
 Nine (health, employment injury, sickness, maternity, old-age, unemployment, survivors’ benefits, family benefits, disability)
 Ten (long-term care, employment injury, sickness, maternity, health, old-age, unemployment, survivors’ benefits, family benefits, disability)



